Empirical Probability

Please follow the instructions below precisely. Each student shall submit a snap shot of their results in a word document along with responses to the questions below.  Simulator results are randomized making each individual outcome unique. 

1) Open the simulation titled Standard Deviation Demo.
2) Enter your name in the top left corner. Failure to complete this step will invalidate your results. 

3) Make sure the distribution shape is set for Random

4) Set the sample size to 20

5) Set the number of Stdev’s to 1. 

6) Press Get Data

7) Press Deviations

8) Press Count Within

9) Take a snapshot of the page and paste into your results document. What percent of data was within 1 standard deviation? 65.00%
10) Change number of Stdev’s to 2. Take a snapshot of the page and paste into your results document. What percent of data was within 2 standard deviations? 95.00%
11) Change number of Stdev’s to 3. Take a snapshot of the page and paste into your results document. What percent of data was within 3 standard deviations? 100.00%
12) Press Clear

13) Increase the sample size to 200 and repeat steps 5 through 11. 

a. 70.50% (within 1 standard deviation) Sample size 200

b. 95.50% (within 2 standard deviation) Sample size 200

c. 98.00% (within 3 standard deviation) Sample size 200
14) Change the distribution shape to Bell and repeat steps 4 through 13

a. 75.00% (within 1 standard deviation) Sample size 20

b. 95.00% (within 2 standard deviation) Sample size 20

c. 100.00% (within 3 standard deviation) Sample size 20

d. 66.50%  (within 1 standard deviation) Sample size 200

e. 95.50%  (within 2 standard deviation) Sample size 200

f. 100.00%  (within 3 standard deviation) Sample size 200
15) According to the empirical rule, what percent of data should fall between +/1 stdev? +/-2 stdev? +/- 3 stdev? How does this compare to the 

a. Results for a random shape at 20 samples?

b. Results for a random shape at 200 samples?

c. Results for a bell shape at 20 samples?

d. Results for a bell shape at 200 samples?

16) How do the results from the random shape compare to the results from the bell shape? How did increasing the sample size change your assessment? 
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Question 9(c) Sample size 20, random shape

100.00% within 3 standard deviation 
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Question 13 (a) Sample size 200, random shape

70.50% within 1 standard deviation 
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Question 13 (b) Sample size 200, random shape

95.50% within 2 standard deviation 
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Question 13 (c) Sample size 200, random shape

98.00% within 3 standard deviation 
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Question 14 (a) Sample size 20, bell shape

75.00% within 1 standard deviation 
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Question 14 (b) Sample size 20, bell shape

95.00% within 2 standard deviation 

[image: image10.png]91172012 12:58:42 PM Natalie Lynch

Clear
.
-—
—— Refresh .
s Graph et

ad Select the Distribution Shape:

[ — Size of Data Set:

- Number of St Devs: g +

S 100.00% within 3 St Dev

— Mean: | 20.36133

StDev. | 5.7173





Question 14 (c) Sample size 20, bell shape

100.00% within 3 standard deviation 
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Question 14 (d) Sample size 200, bell shape

66.50% within 1 standard deviation 
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Question 14 (e) Sample size 200, bell shape

95.50% within 2 standard deviation 
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Question 14 (f) Sample size 200, bell shape

100.00% within 3 standard deviation 

 





Question 9(a) Sample size 20, random shape





65.00% within 1 standard deviation 














 





Question 9(b) Sample size 20, random shape
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